

① Find $\frac{dy}{dx}$ if $y = \frac{(2 \cos 3x)}{x^3}$

$$y = (2)(\cos 3x)$$

$$y = \frac{(6 \sin 3x)}{x^3}$$

$$\frac{dy}{dx} = \frac{6 \sin 3x}{x^3}$$

Multiply x^3 into y

$$f(x) \frac{d}{dx} (g(x)) - g(x) \frac{d}{dx} (f(x))$$

$$= \frac{6x^3 \sin(3x) + 6x^2 \cos(3x)}{x^6}$$

$$4y = xe^{2x}$$

$$\frac{d^2 y}{dx^2} - 4 \frac{dy}{dx} + 4y = 0$$

$$y = xe^{2x}$$

$$\frac{d^2 y}{dx^2} + 4 \frac{dy}{dx} + 4y = 0$$

$$y = 1xe^{2x}$$

Hence $\frac{dy}{dx} = (x)(2e^{2x}) +$

$$(e^{2x}) \quad (1)$$

$$= 2xe^{2x} + e^{2x}$$

$$\frac{d^2 y}{dx^2} = (2x)(2e^{2x}) + (e^{2x})$$

$$(4) + (2e^{2x})$$

$$= 4xe^{2x} + 4e^{2x} + 2e^{2x}$$

$$\frac{d^2 y}{dx^2} = 4xe^{2x} + 6e^{2x}$$

$$= 4xe^{2x} + 8e^{2x}$$

Substituting value

$$(4xe^{2x} + 8e^{2x}) + 4e^{2x} + 4e^{2x} + 4e^{2x}$$

$$= 4xe^{2x} + 8e^{2x} + 8xe^{2x} + 16e^{2x} + 4xe^{2x} = 0$$

thus when $y = xe^{3x}$

$$\frac{d^2 y}{dx^2} + 4 \frac{dy}{dx} + 4y = 0$$

3) Omeglio Epos a
19/20600/050
mechanical engineering

$$4) \int e^x \sin 2x \, dx$$

$$\int u \frac{dv}{dx} \, dx = uv - \int v \frac{du}{dx} \, dx$$

$$u_1 = \sin 2x$$

$$\frac{dv}{dx} = e^x$$

$$\frac{du_1}{dx} = 2 \cos 2x$$

$$v_1 = e^x$$

$$I_1 = \int e^x \sin 2x \, dx = e^x \sin 2x - 2 \int e^x \cos 2x \, dx$$

$$= e^x \sin 2x - 2I_2$$

$$I_2 = \int e^x \cos 2x \, dx$$

$$= e^x \cos 2x - (-2) \int e^x \sin 2x \, dx$$

$$= e^x \cos 2x + 2I_1$$

Sub in 1.

$$I_1 = e^x \sin 2x - 2$$

$$(e^x \cos 2x + 2I_1)$$

$$= e^x \sin 2x - 2e^x \cos 2x - 4I_1$$

$$8I_1 = e^x \sin 2x - 2e^x \cos 2x + 4$$

$$\int e^{2x} \sin 2x dx = \frac{e^{2x}}{5} (\sin 2x - 2 \cos 2x) + C$$

$$\int e^x \sin 2x dx = \frac{e^{2x}}{5} (\sin 2x - 2 \cos 2x) + C$$